BOM TABLE - ECO 3.1 - PARTS

DRAWING

DESCRIPTION COMMENTS

STD

MID PURLIN

STD

BOTTOM PURLIN

STD

TRIMMER

STD

GLAZING STRIP

HEX SCREW M8 X 75 ZP

HEX SCREW M8 X 50 ZP

M8 NUT ZP

M8 PLAIN WASHER ZP

M12 SHIELD ANKER NOT SUPPLIED

5.5 X 25mmTEK SCREW ZP

PET END ROOF SHEET

PET SIDE/END PANEL

3100 OVERALL FRAME

1033 PET

1033 PET 1033 PET

O

1938 CTS (WITHOUT BASEPLATES)

2088 WITH BASEPLATES

FRONT ELEVATION

3050 CTS (WITHOUT BASEPLATES)

3200 WITH BASEPLATES

SIDE ELEVATION (SECTION)

/

N
AN
\@
/
/(oM
/

\

@

Copyright 2021

THIS DRAWING MUST NOT BE USED WITHOUT THE WRITTEN CONSENT OF:

URBANFAB

Shield Green TradingZCo. Ltd.
Tel: 0191 534 3211

T/A Urbanfab.com and Cycleshelters.com
Prospect Building, Shield Green Farm
Tritlington, Northumberland NE61 3DX

NOTES:
1. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS

Scale

Revision

Title

GENERAL ARRANGEMENT

OTHERWISE STATED.

2.DO NOT SCALE.

3. REMOVE ALL BURRS, SWARF AND SHARP EDGES.
4.CLEAN ALL WELDS, NO SPATTER, NO SLAG.

6. ALL WELDS TO BE 6mm FILLET UNLESS

1st Angle Projection

= &

Project

3M ECO SHELTER 8 BIKES

OTHERWISE STATED.

Drawn
SJC

Date

Drg No. REV

May 2021

1

3




